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QUESTION 1

Click the Exhibit button. 

A customer has the configuration shown in the exhibit applied to the VRF C-PIM domain. What can you determine from
this configuration? 

A. The PE is configured for selective PMSI (S-PMSI) only. 

B. The C-RP is collocated on one of the PEs in the MVPN. 

C. The MVPN is not working because the receiver-site command is missing. 

D. Multicast traffic will not switch to the S-PMSI because the vpn-group-address command (data MDT) is missing. 

Correct Answer: B 

 

QUESTION 2
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Click the Exhibit button. 

In the exhibit, the RIP network 192.168.0.0/24 is redistributed into OSPF on R8 Which two statements are true?
(Choose two.) 

A. R4 receives the RIP network in a Type 7 LSA from R8. 

B. R7 receives the RIP network in a Type 5 LSA from R4. 

C. R2 receives the RIP network in a Type 7 LSA from R4. 

D. R3 receives the RIP network in a Type 5 LSA from R4. 

Correct Answer: AD 

 

QUESTION 3

Click the Exhibit button. 
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R3 and R4 want to establish an EBGP session between each other\\'s loopback addresses. Static routes have been
configured for the loopback addresses and you can ping from loopback to loopback. Their EBGP sessions are
configured with multihop to allow for additional hops. The correct AS numbers have been specified at the [routing-
options] hierarchy as well. Considering the topology in the exhibit, which statement is true? 

A. BGP\\'s protocol preference must be adjusted to be lower than protocol static for the session to establish. 

B. Each peer must configure a local-address of their own loopback for the session to establish. 

C. Each peer must specify a local-as within their EBGP configuration for the session to establish. D. Each peer must
configure multipath for the session to establish. 

Correct Answer: B 

 

QUESTION 4

Click the Exhibit button. 
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R3 is announcing a route to R4 using EBGP, as shown in the exhibit. All routers in AS 65221 should learn this route, but
it should not be announced to any other AS. What can be done to enforce this behavior? 

A. R3 should add the community no-export to the route prior to announcing it. 

B. R3 should add the community no-advertise to the route prior to announcing it. 

C. R4 should add the community no-announce after receiving the route. 

D. R4 should add the community no-advertise after receiving the route. 

Correct Answer: A 

 

QUESTION 5

You have recently implemented a new Layer 2 VPN and it is not establishing. The show I2vpn connections command
displays an out-of-range state. 

What is causing this problem? 

A. The local site ID value is too high for the label block. 

B. The VRF target community values do not match between sites. 

C. The VRF route distinguisher values do not match between sites. 

D. The local site ID is not defined. 

Correct Answer: A 
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